
Wednesday 20th January 

TBAT: Solve subtraction problems 

Use a number square to work out these word 

problems. 

A shop has 45 bouncy balls. They 

sell 20 in a day. How many balls 

are left at the end of the day?  

Sally has 50p. She spends 10p on sweets. 

How much money did she have left? 

Charlie had 58 marbles. His brother  

borrows 30 of them. How many marbles 

does Charlie have left? 

Ben had 78 strawberries. His friends ate 

40. How many strawberries are left? 

There are 56 children in Year 2. 30 pupils 

are on a school trip. How many pupils are 

left at school? 

Belle took 77 seconds to run to the nearest 

tree. After practising she was able to get to 

the tree 10 seconds earlier. How long did it 

take her to run to the tree this time? 



CHALLENGE subtraction problems 

Draw a number line to work out the answers to 

these word problems. 

 

Sally has 90 marbles. She loses 28 

of them. How many marbles does 

Sally now have? 

Harvey has a party. There are 67 slices of 

pizza at the start. By the end of the party 

46 slices were eaten. How many slices of 

pizza were left over? 

There are 60 seats on a train carriage. 37 

seats are taken. How many seats have no 

one sitting in them?  

79 people are at the beach on the sand. 28 

of them decide to go swimming in the sea. 

How many people are still on the sand? 

A shop has 55 teddy bears at the begin-

ning of the week. During the week 33 got 

sold. How many teddy bears does the shop 

still have by the end of the week? 


